g CASAPPA Polaris 20
HOW TO ORDER SINGLE PUMPS AND MOTORS

o K
oc/oC - N —— L OA

CODE Inlet/outlet ports 7

@)

| 6
S 0 03 S1 L

PLP 20-8

PUMP MOTOR

in®frev cmfrev CODE elen]= BSPP STRAIGHT THREAD PORTS
0.29 4.8 PLP 20-4 PLM 20-4 Rear ports Series and size
0.39 6.5 PLP 20-6,3  PLM 20-6,3 GD/GD | cD/cp NPy 49_-61?28
0.50 8.3 PLP 20-8 PLM 20-8 2
0.55 9 PLP 20-9 PLM 20-9 GE/GD  GE/GD 14-16-20
0.67 11.1 PLP20-11,2 PLM 20-11,2 CoiglE | EDIEE | PLM 20 25-31,5
0.87 14.4 PLP 20-14 PLM 20-14 METRIC SAE SPLIT PORTS SAE J518 C
Side ports | Rear ports Series and size
1.01 16.6 PLP 20-16 PLM 20-16 PLP 20 4-63-8
1.27 20.8 PLP 20-20 PLM 20-20 TPLM 20 9-112
1.58 26 PLP 20-25 PLM 20-25
PLP 20 14-16-20
1.99 32.6 PLP 20-31,5 PLM 20-31,5 PLM 20
. PLP 20
Rotation PIM 20 25-31,5
'—‘?ft SAE SPLIT PORTS SAE J518 C
Right Rear ports Series and size
Reversible rear external drain PLP 20 4-6,3-8
Reversible side external drain PLM 20 9-11,2
Reversible internal drain PLP 20
PLM 20 14-16-20
3 Version PLP 20 25-315
No outboard bearing PLM 20
EUROPEAN 4 BOLT FLANGE
4 i Side ports | Rear ports Series and size
S Drlvsaft PLP 20 4-63-8
SAE_ A stralllgh_t (5ﬁ8 dia) PLM 20 9-11,2
Stralg'g'hfl (3/4' dia 2" lenght) PLP 20 14-16-20
SAE "B" straight PLM 20 25-315
Straight (3/4" dia) GERMAN 4 BOLT FLANGE
SAE "A" spl!ne (9T - 16/32 DP) Side ports | Rear ports Series and size
SAE "A spl!ne (11T - 16/32 DP) BE/BC PLP 20 4-6,3-8-9-11,2
SAE "B" spline (13T - 16/32 DP) BC/BE PLM 20 14-16-20-25
DIN 5482 Spline shaft (B17x14 9T)
European tapered 1:8
German tapered 1:5
Tang Buna (standard)
Viton
5 Mounting flange

Cover options 9

SAE "A" 2 bolt - -
Aluminum mounting flange and rear cover

SAE "A" 2 bolt

SAE "B" 2 bolt

European rectangular (36,5 mm pilot,
71,4x96,2 mm bolt pattern)
German rectangular (80 mm pilot,
72x100 mm bolt pattern)

Through 2 bolt (50 mm pilot,
60x60 mm bolt pattern)

Through 2 bolt (50 mm pilot,
60x60 mm bolt pattern)

Through 4 bolt (52 mm pilot,
60x60 mm bolt pattern)

7/16-20 UNF-2B
9/16-18 UNF-2B
BSPP STRAIGHT THREAD PORTS
G 1/4

Ports position METRIC PORTS

Side M 10x1
Rear
Shaft seal options
1 Pump size CODE High back pressure seal with wiper seal
SAE STRAIGHT THREAD PORTS O-RING BOSS Standard seal with wiper seal
Series and size Side ports Rear ports High back pressure seal
4-63-8 PLP 20
9- i1,2 OC/oC OC/oC
14-16-20 OD/OC OD/OC
25-315 OC/OD OC/OD

10 001

Replaces: D033-001/02.96

D033-001/02.98





